1 Rumgsiead. .
L Wmmwﬁﬁm%mmil
I fenror 37 saferat @) awfar & S ot sraa 2 |
I 37 37 =aferat ) artar & s dem s & i
IV. 3939 gfrat &) awifar & o & .
1§ 12 7% 3ifaa b mo e safewadt Wosler sy sefrorry s e vt 1 9T
o safes e afireht aer et # 9<

In the given diagram : [
L. Rectangle represents persons o know English

II.  Triangle represents persons who know Marathi.
M. Square represents persons who know Telugu.

IV, Circle represents persons who know Hindi. ficiency among the
The regions labelled from 1 to 12 represent various combinations of language Pro
individuals.

How many individuals can speak Egg!ish exclusively ?

- > English (35
Marathi (RU3t) 4
3
6 /4
9 - -
8 11 Hindi (f&h
10
—eTelugu(ﬁF\lg)
(A) 19 B) 5 8 ©) 17 (D) 12

&

Ifs T F T A, F,K, P, %,ggmmwm? ?

i F,K, , what comes next ?
ifA t)he iequence of letters 1(sB/;, i 47 pigs o w
o e 1 i forer s el bk 1 e et & R s g g e e 3
Select the opt\i)on in which the nur@ers share the same relationship as that shareq by the given pair of
numbers.
185: 199
(A) 126:134 (B) 178:187 (C) 139:153 (D) 89: 106

4. e B 1S # "LEARNING' o1 *160" % 7 & foret st & 1 36 918 3 “PREPARATION: ] foa

ST 2 '
In a certain code, ‘LEARNING?’ is written as ‘160’. How will ‘PREPARATION® be wrs

(A) 248 (B) 124 (€) 266 (D) 133



S, PreefrR s 2 sl ety i 7 7 0 S TR e e fr gt o, I e

Arrange the following words as per their order in an English dictionary and choose the on®

first : ol |
Hardboard; Handspring: Handover: Hnndstﬂ}
. ') Hands rd

(A) Handover (B) Ilmuisprmtlg;J (6 Fismietng (D) Hardboa
6. e @ i) o

Complete the series. "

2,6,12,20,30.42, | 4

\--»\ ' 9
(A) 65 (B) 56 ® © ©) 1

7. IRH+1wH la?rm%-H—mranf%H.lﬂﬂﬁ%ﬁkalmaﬁ%H,lﬁﬁ%ﬁﬁﬁ“‘W

dafrmw i ) PR AR
If H + 1 means H is the sister of I; H — 1 means H 18 the bro

which of the following means that J is the daughter of P?
(A) P-QxJ-M (B) p+Q_ngé (C) P-QxJ+M (D) PxQ-J+M

{f ‘PARANORMAL’ & % mw%ﬁa@aﬂ@“ﬁ
w

fl,
ther of I and H x I means H is the motheT ©

o o farered & @ 97 st gRw s e

& ST S HehaT |

Choose the word from the given altemati@ that cannot be formed using each letter of the given word
‘PARANORMAL’ only once. <

(A) NORM (B) PALM & (C) ROAR (D) RARE

SEe § qF S §Ia AT e

Find the missing number in the series.
20, 35, 60, 105, 190, .

(A) 225 (B) 280 (©) 560 (D) 355
frafafea & @ wi-ar s 7o, 95 3R ol & i & deiy &) o o e § etar 2 0
Which of the following diagrams best illust&‘gges the relationship between Earth, Sea and Sun ?

(A) (B) C OO
@ @ () O .

ST 98 T iy %

(A) e (B) en ’1 © ¥
Lion is to in Den as Spider is to [ (D) AR (ﬁg)
(A) Web ®) mn © |

(C) Tree

3
3
4
k-
3

E 12, ﬁmzoﬁ.qﬁﬁmmgsmg,mwlﬁn%m (D) Shed
magmﬁgsa?%aﬂuovﬁ.awﬁmammm .40‘#'?3#?%,&;(;@ 2 3k 30

(A) SO. ®) 70, (C?EG‘EL?W?%? T R A} |
' (D) 654t

ekt i SN

- -
- - - -
- -
-
-
-
~

- GO



13. ﬁﬂimﬁﬁmmmmsﬂrmmﬁﬁﬁﬁaﬁﬁmaﬁvﬁgﬂ 6 oo
T FATY T & | . that maintains the A
Study the provided figures carefully and choose an option from the answer figure next |
pattern observed in the problem figures. )

(t) 4O B [
Icfcti |1 clci|i1ct ?
9
I 1 11! v v od
(A) N) (B) (1‘) <§L) ){( (D) )f(
14. Wmml’ﬁ%ﬁﬂaﬁw@tzﬁxm@ﬁ:ﬁwﬁaﬁ@ Wf"ﬁmm%l
TTsfe ST 3 fore Rem it st swr 2 2
A) @ (B) ufim (C) afam (D) 3H
A cyclist rides 12 kilometres west and then turns right and rides 7 kilometres. In which direction 1S the _
cyclist now travelling ? ——:,
(A) East (B) West ofiC) South (D) North —i
15. UF S5a § 81 [X & Sl & IR FH A, B, C, D%&i )
gfom TFH A IWAC | JWAD
ZHT TSl H gl s 28 23< 17 | 27
srefartes e 7 STl 1 12{;’ g 3
ST afiien i & Sefiol s & I
SyefaTiiier aire & Ieftol edfeh 6 7 s | 15
afifer it & sl o | i
ZHET T § S 3 64 55 4 | 76
ST T & & For e 8 S gfawra T ST 2
(A) TFH A (B) ¥ B ((C) §RHC (D) ¥FWW D
A school has four sections A, B, C, D of Class IX sgbients.
Result Section A Se‘c{%on B | Section C | Section D
Students failed in both exams 28 I
. ——1— ——y
Students failed in half-yearly 14 @h 8 13
but passed in annual exams 1, -
-7 -4 —— 1 .
Students passed in half-yearly 6 17 ' 9 s '
but failed in annual exams {
uudent passed in both exams 64 5 3 . 46 76
Which section exhibits the highest pass pgruntagu in either Of the two exm
A) Section A C) S -
(A) on (B) Section B (C) Section C (D) Section D =



B

l
ﬁmﬁaﬁxﬁﬂuﬁm%@w%yem 10

jous
e of tea from the prevl

16. !rnﬁiaﬂ'aqzannwzfﬁf%nzeﬂittxatianrnalf%ﬁfﬁiyé#Eniii-3n161;§§'
Study the graph and find what is the maximum perccwgc increas

next year. Py
T odd
od
®
2020
U A
0 25
2020 | 2021 2022 20
'S coffee (F18) | 14 13 16 %7
Ml tc2 F7) 13 15 17 2
(A) 10% (B) 30.25% (cﬁ]n.ss% (D)  20%
17. 3T e T T ST Wk e St H Sef <+ o BT FEETE, X - Fr T &,

e FrEmiar 2 o+ 4wl |
Simplify the following expression using the given code language, where ‘+ represents ‘x’, X’ represents
‘—* <—’represents ‘+’ and ‘+’ represents .
9+4-6x6+8
(A) 16 (B) 8 ©) 12 (D) 24
18. s fem gf S fag e e Y ST T e |

Choose the next figure that continues the pattern.

RIS -

L] |

19. @EW g HIT:

Complete the analogy :
145 : 15% :: 5322
5
(A) 32> B) 52° (©) 35

O&

A &&S

-_———
-—~a
-
-



21.

22.

23.

24.

23.

20.

W’m@m'w)ﬁﬁamw )
3 i . ol . : )
A) T EREE)  (B) sy S @ (D) T () 6.

If you have a regular en . ) at shape is
cross-section ? pentagonal prism#and you slice it parallel to its bases, wh P the

ﬁmm@mw%ﬁmtaﬁmwmmﬁm*mﬁm“

(A) Hexagon (B) Rectangle od (C) Square D) BEningss
ST T ST HIT 377677 R 9 []
What comes next in the sequence ? ®)
A.C.E.G,
@ 1 B) H © 1 @) K

gﬁségﬁgirgm%,mmmwmww 3 et e o et A & TR A8
‘wﬁ%mmﬁ@mmw% ai‘%rw%%qﬁﬂmﬁmm%w
, T ST TP gy o T R |
(A) 83K B) 33RK ()  (C) 83WE (D) 3¥RE
Four cards are placed on a table. Each car@Mas a number on one side and a letter on the other. The cards
on display show 3, 8, E and K. Which card®hust be turned over to satisfy our requirement ?
“If a card has a vowel on one side, then it ha§,an even number on the other side.”
(A) 8andK (B) 3andK (C) 8andE (D) 3andE

]
T TAgh! Al SR ST Hd g faft e gg) 7 wrgeht Wt fran ot seveitet a9t 2 17 fafew i ot
qTed T 39 ASH  RTHEY B 2
(A) & (B) #f (C) wmft (D) ==&
Pointing towards a girl, Vipin says, “This girl is the daughter of the only child of my father.” What is the

2%

relation of Vipin’s wife Parvathy to that girl ?

(A) Daughter (B) Mother o (C) Aunt (D) Sister
ST  BIEEITEHT :: ATHHIEhHY : ? o "
(A) @nfdReae (B) W o (C) Y& (D) e 2
Complete the analogy : 4

Camera : Photographer :: Microscope : ? [] |

(A) Architect (B) Chef @) (C) Pilot (D) Biologist

St o Rt auH FA & 2 o

(A) S & o Shed § (B) 214} gaT ? WiW Ad & 3
(C) aHTALITE (D) 1wt &

How are dolphins and whales similar ?
(B) Both breathe air

(A) Both have scales .
(C) Both lay eggs (D) Both are fish _



26, TRwme ot & Figeit i) i e e

Count the number of triangles in the given figure.

/ oS

A) 12 (B) 16 (d)g)')ls (D) 10

o
27. o fast 4 9, 35 gie s & S sEen S U S a |

od
Out of the figures given, choose the one that will compl@ the series.

] [=) @) [« =) -

(A) ® | W © | (1 (D)
28. = fawm o Al o
Find the odd one from the following : O
| |
o
o
(A) (B) (Cg | (D)
29, 1 sngta i foha TTEA € 2
How many rectangles are there in the given figure ?
0%
Q
o«
o
(A) 13 (B) 14 (Co15 D) 17
30, s & ST HEA I Ao | 4
Find the next number in the series. l ]
62, 55,48, 41, @)
(A) 34 (B) 32 (C) 38
-------------------------------------------------------------- D) 3¢

-
-
-
-—-a
-



31.

T ST 3, et st (X)  fow ozt & et s aed o F 2

Find out which of the figures can be formed from the pieces given in the first figure (X)-

- % 3
] X
(X)

3%

)&

~
"t

P
o
(A) & (B) V-\/ o () (D) f
2. AR IND R IS e G
Choose the letter pair which is different frd@others in the group.
(A) GB (B) TO (C) OK (D) MH
33, S@ST:3.5,11,29.83, -
SET H ITA! AT T4 9
Series : 3,5, 11, 29,83,
What is the next number in the series ?
(A) 283 (B) 253 o (C) 233 (D) 245 )
34, TS S IE WY ARG H T ATl S TR T 96 oft | B, 4 BT T A1 AR TROTEEET T
B F T 4 HARE T AFEH AT TLT | ITAT €MRT A I ST ol weean =:m off 2
A few students went on a trip and the to ount planned to be spent was T 96. However, 4 students dié
not turn up and as a result the remaining sttdents had to contribute ¥ 4 extra. The number of students whe
attended the trip was :
(A) 8 B) 10 ©) 12 (D) 6
35. R TEanE g e, o @ i o -forelt w9 # o 3 &, o1 o oreR-unE e ¥ | AW
STETFE I |
Four letter-clusters have been given out of which three are alike in some manner, while one is different
Choose the odd one.
(A) HILN (B) PRTV (©) OQRT (D) BDFH
36. fawm g AT
Find the odd one. o
OAd@I0I3
o
©) (D)
Q) 7 O
9, ) 4
37. wwhEwd 6@aE A, B,C, D, E, FE1B, &mém'*“(ﬁ B *‘;ﬁ“ﬁ% A SR C fafsa sirer2 | E. C
FUERID AT AR F.A‘ﬂ‘ﬂﬁi‘m B g ““.(',, -
A family consists of 6 members A, B, (“,‘D, [ ' fs e som 01 ¢, ¢ ‘ut C 1s not the mother of B.Aand C
are a married couple. E is me.bro‘(her of C. D is the daughter of A. F is the brother of A_ How many f:gaale
members are there in the family ? )
A 1 ® 2 (_(;)__} ________ (D) 4
%2 057 S Page8of24 TTTTTeeeee -



38.  afe 6 it it i T 90 %, 4 10 s A FTT TR 2
If the cost of 6 mangoes is ¥ 90, what is the cost of 10 mangoes ?
(A) T120 (B) %130 N (C©) T150 (D) %160 g”ﬂ
39. o TRT T TR E 1,764 i S anfifen faect B fo62 ST 2, forerd anfifen wiahfora S%WWW
IR ot wE ity e oft 2 _ . terest
A sum of money is paid back in two annual instalments of T 1,764 each, allowing 5% compound !
compounded annually. The sum borrowed was :
(A) ¥3,280 (B) ¥3,220 (€) T3,200 (D) % 3,240
40. C 3B UF 1 F HE: 18 R afe 24 Refl L EHA T | I 8 T 76 weh wrer b <2150
T | B3 A9 HE e At A qu e o2 |
A) sf= (B) 51 fm g ©) 85% (D) 10f= .
. €
C and B can do a work in 18 d:ys and 24 d respectively. They worked together for 8 days and B
C left. In how many days did B finish the remgining work ?1
(A) 5 days (B) 5% days @) © 85 days (D) 10 days -
41. A 3R B YoF U e @ 75 it if o e § | S O A Y7 o o A 3 % T 96 O
3t B 3 9w v A 23 et o A 3o 37 B ¥ fohe foedT o wma ot faa 2
(A) 26f= B) 19 f= ©) 18f= D) 25fA
A and B each can do a work in 75 days. They began the work together but A left after some time and B
completed the remaining work in 23 days. After how many days of the start of the work did A leave ?
(A) 26days (B) 19 days o8 (C) 18days (D) 25 days .
42, e B i 25% G 1 | e B 20% et o R oA R 10% gt e T | < A
gftomdt gfg Fm @ 2 poi .
The increase in the price of a certain item was 29%. Then the price was decreased by 20% and then again
increased by 10%. What is the resultant increase;jn the price ?
(A) 5% (B) 10% “d (©) 125% (D) 15%
43. A T 180 wia fohcimm offt 280 i fereiiym ot aeft & wem it = &t fom srma ® freman S T
T Feror a8y % 320 SR P o o o ¢ 205 s ema & 2
In what ratio must the two types of tea at ¥ 180/kg and ¥ 280/kg respectively be mixed so that the obtained
mixture sold at T 320/kg earns a profit of 20% ?
(A) 3:13 (B) 4:13 C) 1:14 D) 2:13
44, afit B it 7ifa & 0 o it &1 I 2 : o N =
A JuTd 2 3%aﬁtw%QAﬁmmamq§aﬁﬁBmmnqm@,
15 Tz srfereh T o @ | At A T ] & <Ry S, oY 38 gt o v F R wer T 9
(A) 225 (B) 35fme () (© 21.5“ﬁ'¥12 (D) 45 ﬁm.
The ratio between the speed of travelling of - dBis?2 : )
the time taken by B to reach a destination, Ifwad walke;i3 ta ‘(lid thercfore A takes 15 minutes more tha
taken to cover the distance ? at double the speed, how long would he haVn
. »”
(A) -22.5 mintues (B) 35 mintues '\*J . ©
(C) 21.5 mintues (D) 45 mintue
45. T SN WO SIS T 5% AR R 3 770 Y Sret 2 | ekt ey S
- pv] qu
A sum of money becomes three times at 5% ) i b W%‘é{a{ %6 1l:n [
S ) ° Per annum simple int Sy
times in the same time ? ple interest. At what rate 9, will it ?
(A) 10.5% (B) 14% become
....................................... ©) 11% X
DzU-24 T (D) 12.59



46.

47.

48.

49.

50.

51.

52.

S3.

35 vy 35 AL | S 3y

last 3 years thi‘

ﬁmﬁﬁmﬁqﬁwqmwﬁsﬁﬁmwﬁﬁm%ﬁiﬁmaﬂ%aﬁmma”f'
[-1-1983 T ¥ 380 wfey ate & i 1-10-83, 1-10-84 3T 1-10-85 T ¥ 40 #4
1-1-86 1 VaTfgg Rer &, ot &g wfy wre bt G971 sy e 2 2

A man’ i : L ; e
an's pension on retirement from service is equal to half the average salary during th

i . i 1-10-84 ;
Teli\olc;% }l{fl‘shsalar.y from 1-1-1983 is ¥ 380 per month, with increment of ¥ 40 due on -10-83, A ang
-10-8S5. ¢ retires on 1-1-86, what pension does he draw per month ?
(A) T205 (B) 7215 () ¥225 (D) 7230

aﬁﬁoﬂﬁmaﬂ 70%, 0.35 R, @ 39 H@&AT &1 120% 719 Hifao |
If 70% of a number is 0.35, then find 120% of that number.
(A) 6.4 (B) 7.2 (03256.0 (D) 06

T STIRT 3 25°, T AT i 1 F £ £t 3 S A g T
SEHT Irfas v faher @ Ree o g ﬁﬁaaﬁaﬁ o

A trader marked the price of a commodity to include a’
: e a pYofit of 25% but allow
marked price. What will be his actual profit ? O

(A) 16% (B) 25% (CQS% (D) 9% )

T fhahe Raemret Y 30 a3 Rg acsiast siaa 40 | e e T T I TR E 100 T

ﬁ%;ﬁwaﬁmﬁmmmma 28 TR 7 st 38 T 2 | @1 FEETSt F
ER IR )

16% 1 FZ ft &,

ed a discount of 16% on th

g
(A)

TOY

(A

) | -

The batting average for 30 innings of a cricket player is 40 runs. His highest score exceeds his lowest scor <.

by 100 runs. If these two innings are not included, the average of the remaining 28 innings is 38 runs
Then the lowest score of the player is :

(A) 19 (B) 18 (C) 20 (D) 17

e AT o R wresh % 2000 ZHST Y T 50 R g g 7 & G FT T A Y | IHF T3
emm,aﬁS%WWWﬁmwﬁﬁW@aﬁiwaﬁwzs%aﬂmml%ﬁﬁ

D

50% TTeeht T STt R faa T o | 4t i i fhamapha gem g 2

A manufacturer undertakes to supply 2000 pieces of a‘}grticular component at ¥ 50 per piece. According
to his estimates, even if 5% components fail to paéiothe quality test, then he will make a profit of
25%. However, as it turned out, 50% of the comporgnts were rejected. Then what is the loss to the

manufacturer ? |:]
(A) %24,000 (B) 26,000 (9)3)3 28,000 (D) ¥ 30,000

T FTCETT 6,400 T T T A T I 20% 1 T GE | A R HT AT TR 2

By selling a car for T 6,400, Mr. Rao lost 20%. Then the cost price of the car is :
(A) %7,200 (B) 7,680 (C) 8,000 (D) ¥8,400

qmgwg&ﬁm-@at@@ﬁﬂ@ﬁm?&m, TS THAH BT @ | AR T8 3T 580 A J=ar 2, @
Tareh AT SET B T AT €l & | et o oA e T

A used two-wheeler-dealer sells a scooter for 460 any akes. some loss. If he had sold it for ¥ 580, his
profit would have been double of his loss. What was thggost price of the scooter ?

(A) %520 (B) %540 (CP3 480 (D) %500

@mw%ﬁqﬂaso%ﬁlbﬁﬁw'm%mngﬁ12®§ma.mwﬁmﬁﬁ%:
(A) 6.5 Frefi/eieT (B) 5.5 fah/a (b _Lo.6 frdyein (D) 7.5 Rest ety
A boat goes 80 km upstream in 16 hou

water is :
(A) 6.5 km/hour (B) 5.5 km/hour (€) 6.6 km/hour (D) 7.5 km/hour

rs and 72 km doVlstream in 12 hours. The speed of the boat in still

g



Bl

54. U‘w\ -""llﬁ’\ ””\1 W |‘ ) l‘ ‘#"" ”‘q‘ "‘\ L E Nl “ 3“‘ SLRIIT 2 ‘1 -
) . Py
A A R ) e R TR0 feray may v, virt

(A) 1 [ e (1) 3 A 7 g
M) 1 g e

A person ¢ VY | | wilet and he tinds
person can row 22 kman hour i ail LT YT him twice

A long 1o row up as o

row down the stream. The speed of (he srean ‘u’
\ | ’

(A) 1 kmn (1) V' () 7 ) ol (O !

T ol LERR ) K he
| i LI ‘ W Al |
§5. . 1y W e (HCH) W A <
Find the HCFof 20 3 ©
2V 4
A) B © o |
. | (B) 00 50

45 40

so.  u wrater i iy s ofv whv & | afd 15w gE W A il ) v wftra ¥ o A sty sftwd
A1 R | 3 e 45 ity v ) AR & Ve 9 sreljgpy s STl 3 arer § e e & 1 A R
s e o g v i & O

< in an office. 1f 15 Seceetaries went on leave, then every Secretary

There are Senior officers and Secretarie
nt @leave and now every Senior officer has

has two Senior officers. After that 45 Senior officers we
5 Secretaries. Then find out how many Secretaries were there i®8ally.

(A) 30 (B) 40 © 25 <] (D) 35
57. 285.510.l44()ﬂmﬂm(lll(‘l“)mml ]

Find the HCF of 285, 510, 1440. ®

(A) 14 (B) 15 ) 16 (D) 17

58. Ul)HR(WW@WW)WWW&WW%W%&%M@M%%?
(A) =B 10 (B) IR 14 (C) YT 18 (D) T 25

Which article of the UDHR (Universal Declaration of Human Rights) guarantees the right to seek asylum

from persecution ? .

(A) Aticle 10 (B) Aticle 14 ©) Amcgm (D) Article 25
59, uvAfuEqiEd 2 prd

(A) e fronfea aftaafrat e ) e et - e

The full form of NPAis .

(A) Non-Performing Assets (B) Non-Public Assets

“ kaoce Acti : . 1c Assets

(C) Non-Package A.umn (D) Non-g’tbnning Actions
60, I SR & Fre foreY & 9 e HARIT S R

(A) I (B) 3w ©) R ) e

In which dist'rict of Uttar Pradesh is the *Shera Dance’ celebrated ?

(A) Amethi (B) Ayodhya ) Lulitpur. (D) Bijnor

eass== - @ mmmemmmmmmmmeme=m T T

D.ZU-24 Page 11 of 24



61.

62.

65.

66.

67.

AT AT Tt st wfty 1 qer sRym a0

(A) T BRI & IaareT w ufyey

(B) 9T ST & wrifarqul IuzinT Y axgran 2T

(C) T[S TRHTY] SFEATTR Y 7 AT

(D) AT 3 &1 2t St % forv et wommop fremiet o e

What is the main purpose of the Comprehensive Test Ban Treaty ? o

(A) Ban nuclear weapons production (C )

(B)  Promote the peaceful use of nuclear energy ¥

(C)  Reduce existing nuclear arsenals o

(D) Ban all nuclear explosions for both civilian and military purposes o8

T T oy 8 F St for war fpar s 2 2 <

(A) T (B) I © PRz @Ees) D) @ifecd
Arjuna Award is conferred for achievements in the field of : ®

(A) Sports ' (B) Dance (C) Theatre (D) Literature
$fean fo=a shrem foreeht senare 2 9

(4) TSEYER (B) g9V IR

(C) TS, HAreamft (D) A FAH AT

‘India Wins Freedom’ is the autobiography of whom ?

(A) Rajendra Prasad (B) Subhash Chandra %se

(C) L.K. Advani (D) Abul Kalam Azad

2016 = foreietor % sme RBI %t i i 500 3 1000 w93 3 Fe 31w 5w 'fé
What percentage of 500 and 1000 rupees notes was received by RBI after thes@16 demonetization ?

(A) 98.96% (B) 95.65% (C) 93.27% QD) 97.45%
1993 ® AHT A R fag aa= 3 T YT 74T | ]

(A) URZESH =90 (B) %aﬁmaﬁwn ®

(C) fawam =won (D) TR IR w=edy Siyoyy

The World Conference on Human Rights in 1993 adopted the X
(B) Helsinki Declaration

(D) Helsinki and Amsterdam Declaration

(A) Amsterdam Declaration
(C) Vienna Declaration

m@mmmammmmﬁﬁaﬁm@w%mg

foru it & STeron i SR ? . | O
(A) 42at d@eireH (B) 44af doie (C) 73af weme D) 79at Feie

Which Constitutional Amendment Act extended the reservation of sea@3for Scheduled Castes and
Scheduled Tribes in the Lok Sabha and State Assemblies ? o

(A) 42" Amendment (B) 44™ Amendment  (C) 73" Amendment gb) 79" Amendment

“Tieheeh gftet WIa 3 foher T  feera 8 2 ®

(&) AT (B) T (©) fstre (D) g
The “Loktak” lake is located in which state of India ?

(A) Meghalaya (B) Manipur (C) Mizoram (D) Tripura



68. mﬁm@%ﬁmﬁ*wﬁmaﬁtm’mwmm

=T ' TR o frgi
(A) §Har (B) . . (©) sy RIE C1C Eo T
The words “Unity and Integrity of the Nation” in the Preambie . (D) e
v principle ? . € @M to promote which fundamental
(A) Equality (B) Justice (C) Fratemity
’ 69. “@mmgsﬁgﬁz%mﬁmﬁmﬁm@ﬁ V(D;R:To;ereigmy
'- (A) THErE B) FES o (©), et (D) q;m:—avm

is a software program that ﬁl‘g“g all the data coming through the Intern
(A) Antivirus (B) Cookies ol (C) Malware (D) Fc:tr
0. et e e 3 R e T *‘“"‘"a*mﬁ PRy,
(A) | Area Qo (ST (] (B) Azt |
© i ] - (D) T SRl (i Faram
What is the term for the strategic use of Soc@)media
(A) Social media marketing

platforms to communicate with an audience ?
(B) Social networking

(C) Online chatting (D) Virtual interaction

71, STH TS R 2

(A) sEfmEn (B) WA © fg (D) HRET
What is the capital of Bhutan ?
(A) Brasilia (B) Porto-Novo (C) Thimphu (D) Sarajevo
72, WA & T e A T RAAR 2 e
(A) W=¥g ol (B) werea el A
(©) 1= few el foret of (D) Y EIRGH ¥Y
i

Which is the longest River bridge in India
(A) Rabindra Setu

d
.

:] (B) Mahatma Gandhi Setu

(C) Annai Indira Gandhi Bridge ® (D) Bhupen Hazarika Setu
73, T T e € AT el ST 2
(A) 3 1853 (B) 3FTE 1998 (C) ST 1991 (D) TesR 1995
When did the Government present the Kisan Credit Card Scheme ?
(A) April 1853 (B) August 1998 (C) July 1991 (D) November 1995

7a. e i P 3 sl T § el afgea o R T et s 2
(A) mﬁ*m%wﬁ 0) -
(B) Ffen ey SR 7S

() T wEET i AR G e ::g

(D) ﬁgﬁmmﬁ‘r%mﬁ |

How does the partnership between India andgietnam change their regional security dynamics ?

(A) Through cultural integration l] yn

: (B) By imposing economic sanctions ®

ooperation and maritime security

(C) By increasing defence ¢
(D) Through joint nuclear programmes

D.7ZU-24
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75.

76.

77.

78.

79.

80.

81.

S 2024 T 1 99T 8 fouey F Jar S

(A) Tge et (B) oo @S

() Ifa= Feliare (D) @ifa aifet

Who is the Leader of the Opposition in the Lok Sabha as of June 2024 ?

(A) Rahul Gandhi o (B) Mallikarjun Kharge

(C) Arvind Kejriwal N (D) Sonia Gandhi

“TTAF AHT [ & A@FH B & 9 Py

(A) R gEa (B) fSramed awly (C) 3o Fqar (D) T F
Who is the author of the book “Tughluq N‘Qﬂa” ?

(A)  Amir Khusrau (B) Ziauddin Baj‘éni (C) Ibn Battuta (D) Allen Zen
HANT 378 ST T (IRENA) F1 6 § 2

(A) 37 (TRt St 3 Suaii ) sty 3

(B) ﬁwﬁa%sﬁ%%qwmgwmmﬁam%

(C)  IRENA T S i TR Sigi T e iz et &

(D) ZHam s & Sfareeft S afiommedt & fore R gerdr sem 5t 2
What does the International Renewable Energy Agency (IRENA) do ?
(A) Promotes the use of renewable energy

(B) Develops nuclear energy programmes for developing countries

(C) IRENA focuses on advancing nuclear power
(D) Provides financial aid for fossil fuelgdbjects worldwide

3 sTdaTe R yarat & auea ¥ R Rr 9reT ) Rder aeT ST 2 2

. £ -
(A) T (B) T cg (C) faad® (D) UNCCT
Which organisation is held responsible foggpordinating global counterterrorism efforts ?
(A) INTERPOL (B) NATO - (C) World Bank (D) UNCCT
3513?‘1'3,33,3?”334I3W$3¥mﬁ0 [T I FTR ?
What is the GST rate for necessary items like milk products, bread, etc ?
(A) 5% ®) 18% @ ©) 12% D) 28%
AT T ATET o5 WHEIRH AT T 1 7 A1 o2 7 & S 2024-25 T € ' R 2
(A) TR N (B) 3w (C) 3T (e (D) s

What is the name given to NASA’s manned landing mission to the Moon which is likely to happen -

2024-25? .
(A) Lunar Gateway (B) Orion (C) Apollo Regained (D) Artemis

st ety sTaifies fadet (ITERYFRETSHT i Sew fwferfian it saerian wafdia swar 2 -

(A) St e o fore wewTy] fereet »

(B) FLIMH T WW-@E@H%WﬁTW

(C) I~Ia dr ¥ denfireht oS

(D) iafte-smeafea fersteft Ieme exl o

The International Thermonuclear Experimémal Reactor (ITER) project aims to demonstrate the feasibi’’

of :
(A) Nuclear fission for energy productlo[a)

(B) Fusion energy as a large-scale and carbon-free source
(C) Advanced solar panel technology
(D) Space-based power generation



82.

83.

87.

89.

90.

D.zU-24

14 Trcisi =t v &9 & meman sman 2 2

(A) TS T feam (B) T gemran fran

(C) faaFaxfeay (D) M faan

14 September is celebrated as :

(A) National Hindi Diwas (B) National Voters Day

(C) World Cancer Day (D) Engineer’s Day

HRAHTCT TRASHT farad waifia & 0

(A) @ wnt (B) e () AT s (D) ok
The Bharatmala Pariyojana is related to : ,

(A) Roadways Yo m( :;‘; riN‘t\:‘cm(/:ays f’p‘ (C) Airports (D) Forestry
mﬁﬁﬁq_maﬂmmﬁma;m&mammt? '

(A) wrelt B) fawh o) frema @zt () =
Which of the following festival is known as the feﬁval of Iights in India ?

(A) Holi (B) Diwali <|(c) Christmas (D) Eid
mmﬁﬁnﬁiﬁgﬁﬁ%%&mmwﬁmm%‘? ,

(A) FEH (B) ®aT®H @)(C) TR (D) @15
Which of the following type of tax is submitted in Indian GST?
(A) Income Tax (B) Service Tax (C) Wealth Tax (D) Property Tax
ﬁm%ﬁaaﬁﬁ%aﬁ%ﬁmgﬁaﬁﬁmmﬁaﬂgﬁwﬁa%m? .

(A) T Tt (B) m &=
(C) T FrEdt (D) TI1 T H1EA T
Who among the following first propounded the idE?of Basic Education ?

(A) Mahatma Gandhi ()(B) Jawaharlal Nehru

(C) Dayanand Saraswati ?G(D) Raja Ram Mohan Roy
AT F, 2020 — 21 F F-1 TS AEA 1 TG S AT 7

(A) T T (B) @H <© afieTg (D) FAZE
In India, which state was the leading producer of tﬂ':es in 2020 -217?
(A) Madhya Pradesh (B) Assam @)(C) Tamil Nadu (D) Kamataka
eotas ‘m%ﬁﬂa'ﬁamré’ (TR ¥i7T o AT ORI 1 STHeAT 19 2 2
(A) wHH & (B) areufa T (C) wfeaea (D) T =
Who is the recipient of the first-ever ‘Lif:etime Disturbing the Peace Award’ ?
(A) Salman Rushdie (B) Arundhati Roy (C) Joe Biden (D) Rory Stewart
ey o FeATTaTa et T T R ‘
(A) @f@mn (B) e B(C) I F (D) eSS WeT
The Indian state with the lowest sex ratio is : gg
(A) Haryana (B) Punjab (C) Untar Pradesh D

. (D)HSTW%: ﬁ (D) Arunachal Pradesh

= S§(3AFN) / W - r .

(A) D=S( )/ W (@) <](B) D = S(¥TH) / N (dw&r)

(©) D =N /SEH)
Density of a population (D) is
(A) D=S(size)/ Wlweight ~(B) D =S(space) / N (number)
() D= N (number) / S (space) (D) D =S(size)/ S (space)

D) D=S( s
O D= SEmR)/ s @)
®



91.

92.

93.

94.

9s.

96.

Wmmmw%mgmaﬁaﬁ%@m%?
(A) G ROt Y sigTd gu aTedfaeh aHa T ST waH

(B) TS Y& HfHt Y avaanar sl i a0 quy

(C) AR 3 For avrol ntars e v s e e TS 1 AT T

(D) 9&EEH 3R geamaa ufararad # gur sk

How does the integration of biometric technology enhance India’s internal security framework ?
(A) By providing real-time location tracking cnncing overall surveillance

(B) By eliminating the need for human sccuriti? #crsonncl altogether

(C) By reducing paperwork and streamlining adfhinistrative processes for citizens

o)
(D) By improving identification and vcriﬁcatiop")rocesses

1928 ¥ IR Feare it I feed frm a2 ||

(A) wHeTe i () (B) wER Feerw g2

(C) gumdEza™ (D) VAT FEE

Who led the Bardoli Satyagraha in 1928 ?

(A) Mahatma Gandhi (B) Sardar Vallabhbhai Patel
(C) Subhash Chandra Bose (D) Jawaharlal Nehru

: ol )
2021 §, maﬁﬁﬁzwgﬁmmﬁmaﬁ@mmaﬁm@mmmﬁ“

T fear mar o | &3
(A) T (B) UEel ;’g (C) uteat (D) <o

In 2021, Instagram was ranked globally at l position on the Internet in Most Used Soc
Media Platforms Worldwide.

(A) Second (B) First [Q:} (C) Fifth (D) Fourth
Q

=1 7 fosad 9T 3rmsReoT et fopa 2

When did China invade Tibet ?

(A) 1952 (B) 1950 (C) 1953 (D) 1949

foperferfiaa # & forer Sfiar st STeT TgwoT 1 S Tebeieh WIT ST R 2

(A) 3 (B) eI oy (C) Haw (D) I

Which of the following organisms is considered & bioindicator of water pollution ?
(A) Earthworm (B) Zebra *g (C) Frog (D) Lion
4
af2 379 9752 ‘INFORMATION' % 1, 5, 6 31T 8 e 1 371 0 31 b areit st yrag e 6
T 36 Y768 T ST STERT AT B 2 <]
If you can form exactly one meaningful Engligh ford using the 1%, 5% gth 4 oth letters of the WO
‘INFORMATION’, what will be the fourth lettef'g} that word ?
A M B) T (€) R (D) 1



97.

98.

99.

101.

102.

103.

D.ZU-24 Page |
e ‘7 nl l,‘ """"""""""""

ﬁqﬂqﬁﬁb?ﬁﬁa -
TR 3w g o) o 1 B |

T8 : T8 9y |

(A) TaTE e (1) AR (Xt sppoppogron

(1) A gy
It .,q'ni‘m o the given paig

(C) o : e (e s

FrOm 1 : . y
the given options, find the pair whi

Projectile : Trajectory )
(A) Aecroplane : Route (1) Shooting atar - Atmoaphere
(C) Ship : Knots ¢ "‘ (m Satellite - Ophig
s
gfe amr & fagda s areh )l s fanl viarf, M ARG E IR R ER R AR E TR R AR gtk
faratia feem areft ey & 500, afuw & :
(A) 48 it wfywer | (1) 4.0 ff v
(C) 5.2 fdft it v in ™ A5 fahy ufer b
If the speed of a boat moving against the current 18 18 km/hr, what is the speed of the stream if the bost =
speed downstream is 50% greater than its speed upstream !
(A) 4.8 kmph (B) 40 kmph
(C) 5.2 kmph (D) 4.5 kmph

Snﬁamaﬂtwnﬁamaﬁﬁgﬂmwmg?

What is the area of a triangle with base 8 meteriptpd height 16 meters !

(A) 32 m? (B) 128 m? EJ? (€) 15 m? (D) 64 m’
Y, XFEARAPFEARIZ, y % Fee-afireAse | 7 # e R PR Y
(A) SUgE ®) cRmafm  ©8 (©) ge-afam (D) aftqor.qd
Y is in the East of X, which is in the East of P. fil in the North-West of Y. In which direction of Zis P ?
(A) North-East (B) South-West [] © North-West (D) South-East
SN G 91 HIf | ©)
Find the dissimilar number.
9271, 8482, 7633, 6724, 5745.
(A) 5745 (B) 9271 (€) 7633 D) 6724
ﬁwﬁfﬁéﬂﬁﬁﬁ-ﬁmﬂwﬁﬁ?t?
Which of the following numbers is different from the rest ?
13,17, 23,27, 29 fj)
B) 17 o
A) 13 (B) 0 (€) 23 D) 27

@mmm%mszxﬁxofwﬁmﬁkqﬁgm
| ,‘ A5 R | Gl S % 0T A I WA K
Xﬁi?osm%‘:mmﬁ”ﬁﬁmm*". Y % et 400 fdt B foro ue st A W R 2
: | (B) 64,15 fafinder
C) 58.15 feime ]
© @y (D) 681 Ffiater

A man travels the first 200 km of his journey 4 ()
200 km of his journey at 50 km/hr. What iy hi averny km/hr,
(\

(A) 61.53 km/hr
(C) 58.15 km/hr

ap Due to bad weather he travels the next
ol Lo

| Peed for the first 400 ki of hix journey

()64 15 ki

(D) 6N 15 kin/In



104. T e 1 ST 9T St 3 e, ) i et A B e g s 1 A1 HC R Iy

106.

107.

108.

109. T
(

foraeht aefit oft » 2
(A) SR (B) A H (C) gt 3uAt (D) fd
Pointing to a photograph Daisy said, “I have no sisters but that man’s mother is mYy father’s daughtq

Whose photograph was it ?
(D) Husband’s

(A) Son’s (B) Daughter’s 06((') Her own

- TP 1 37820 faelt e, o s s st sffoo Fve reft | e e et s 7 38 20 Bt e
mﬁweﬁus%ﬁ?@waﬁwﬁﬁw«mamam&mﬁamﬁ%? . 110.
A (B) ufem 8 ) (D) I

Rani went 20 km towards west. then turned left qd went 20 km! She again turned left and went 2 kn

She took a 45 degree turn towards her left and wen straight. In which direction is she walking now 7
(D) North-East

(A) East (B) West (C) South-East
e arfersr wfe st 4t é wrdt 3 srem ‘4%38’ % for smeifirer e 91 AT :
IF | 2 5 7 8 | 9 | 4 6 [ 3 1 111
W*E]MRTBWKDNJ_?
et
L A EE % veet i sifom 2T of Rivw ot &, @Y AR s % wy i i far =T =R |
2. AR EEAT % Ueet 37 3ifem AT otk W 31 padl S A <20 % w6y F Fied AT ST 91T |
3. AR YR R sifem sient F & uk fww ¥ o gga ww 2, 9 ved siw ‘Q AR 3ifew FFH FT W F =
3 Fifa e i | o
(A) ZTWMNZ (B) KTMWNZ 0% (C) ZTMWNZ (D) KTMWNB
Read the following table and find the relevant co%]for ‘472938’ as per the conditions given :
Digit 2 5 7 8 91 4 6 3 1|
Letter code M R T B V\@ K D N J
Conditions :
1. Ifboth the first and last digits of the number are odd digits, then both are to be coded as ‘S".
2. Ifboth the first and last digits of the number are even digits, then both are to be coded as ‘Z".
3. If one among the first and last digits is odd and the other one is even, then the first digit has to &
coded as ‘Q’ and the last digit as ‘W’.
(A) ZTWMNZ (B) KTMWNZ o (C) ZTMWNZ (D) KTMWNB
@ 15, 36, 63,96, mmmﬁﬁi@
Find the next number in the series 15, 36, 63, 96, o
(A) 122 (B) 128 o (C) 135 (D) 145

o e e i, o - % aeft o avedt 3 3 B & T e & 9 §U ¥ | orari et e i 3w sid
ﬁ%ﬁﬁ%@ﬁsaﬁawﬁaﬁmm%mﬁﬁﬁmﬁml

In the given question, there are two sets of lettﬁ)to the left of the sign :: which are connected in O™
way. The same relationship obtains between the third set of letters and one of the four alternatives under It

Find the correct alternative.

18120 : RAT :: 18914719 : ? ]

(A) RINGS  (B) RINCH (©) RIMBS (D) RICH ... Dz



109. Torem gm 3/ Hifs |

110.

111.

(A) e : R “: T s
© W:T&m) 06( ) ﬁgﬁTFn
Find the odd pair.

() (B) Cow : Calf

(A) Dog : Puppy o
o (D) Sheep : Lamb

(C) Tortoise : Turtle
s qfar §, oie wew p, Q. R. SﬁtT%lPW&imma'Qmmm P, R 1y 21
2 Ref i ad st T, shaR QT b

(A) W B) i Lo ) =

@ T. P and Q are a married couple, () being the female
eris S. T is the mother of S. How is O related to T 7

©) Daughter (D) Daughter-in-law

In a family. there are five members P, Q. R, S
member. P is the only son of R, whose only daught

(A) Mother-in-law (B) Sister-in-law
mﬁi@@w%wﬁmmmﬂmwm% | TS F1 AP Fifa A

IS YR W I H S AT | ‘

The following pie-chart shows the percentage distributio '

book. Study the pie-chart and the answer the que@n based on it.
&

n of the expenditure incurred in publishing 2

(]
frdt gaF & JEEE 4 g I fafiy= =9 oy arious Expenditures (in percentage) Incurred

(afasra 7)) <] in Publishing a Book
@ . .
128 T ART Promotion\ Printing Cost
arTd 20% Cost 20% &
10% &8 10% @OQCP

&

tac &€ gt Royalty Lt
15% 15% >
e | O

. Paper Cost

foreza<t 25% o Binding Vo,

20% ol 20%

f el e ﬂﬁmﬁ'ﬂm‘l{‘“‘ﬁ“m‘@ﬁ“‘?ﬁﬁ&mwa 3R sifird 7 € 280 &, A TREF
@gﬁﬁggﬁmaﬁWW% ?

. ’ "."'t400/' a > .
If the marked price of a book 1s set @ o above the COst price, and the marked price is T 280, what is the

cost of the paper used in one copy of the book ?

B) %60 ~
(B) ©€) =39 (D) %50



112. ﬁa@mmiwmmmm,

HDYSMWNBQPOCRTBIL ZVEGUF o
awﬁmﬁmaaq@mmmﬁmag
(A) B3RQ (B) D3y e¥C) UIMF (D) VIRE

Answer the question according to the letter series égcn below.
HDYSMWNBQPOCRTBLZVEGUF

Which two neighbours in the given arrangement aLe]'arthest in the alphabetical order ?

(A) BandQ (B) DandY Do) vandr (D) VandE

113, A S % U W F, 40 = v 2, 30 1 6 76 B, 3k 20 F A 3 FE A T6E 2 A B
FIT I19 THE FAE 0

If in a group of people, 40 like tea, 30 like coffee, and 20 like both tea and coffee, how many people

only tea ?
(A) 20 (B) 10 >(C) 40 (D) 15
¥. 9. 1143 118 Tenivr 9% c15

ﬁmﬁﬁm)w?rﬁ%ﬁgﬁﬁmm%Ié‘%mmﬁm%mwﬁm%@amﬁ%méﬁp
et oft 71 gt oft a7 W i A SR

S TS e €% T R AR Eg

Thedl I, g ! &1 AN W G« iR

e, ot e, 3 9 3 g e

TR FcA et Ieht Wt e wart off

3 el e e o

G T TR aE g areft T ot | o
114. FarEt # siftin A E Q

(A) TN (B) arcaeqel & (C) IawfeRget (D) wififs
115, “ga o) AEHT 9 At wie el T o ﬁw:ﬁmﬁamwf%:

(A) R (B) gt T <"](C) NARCELE] (D) Ser%
116. 3t JeieT 7 @e) T & qehar 2 : []

(A) wTEr F T O (B) 1857 T T

Ll

(C) ST T HTHHAT (D) WERTS F
117. 3@ FHEaT A FaREN w#TAHE

(A) werRe anf (B) GUAFAANER () ARIII0T (D) Hrrmé
118. 39 Hiar & W R man W R |

fi) s (B) & (C) ¥ (D) R
119, fRu e fasmeat & & fayge w1 e a-aT g ?

(A fgeh (B) f (©) fogd (D) fargs )
""""""""""""""""""""""""" Page 20 0f 24 TTTTTTmommmooTOl



120, <G SN g AR A Jfere fo e et AT |
(A) ot o (e [ (©) Jufery :
121, 19877 ‘W(E%Hn‘%ﬁvﬂlmf%@w’”;'“ ‘Hwﬁﬁéﬁmw? (D) =
(A) Fader ami () s 3 M ) B P
122. ﬁrﬂ%@ﬁﬁﬁﬁmmsmﬁﬁw%? dﬂ((') .-
(A) TH (B) “J (D)
3. o e Lo s
f (A) 3 (B) 4 a,j)( ) - (D) 6
(24, T O BT ISR WA
(A) T« (B) H93 ©) S (D) i
125, TS Y T G T e Y SR FE | < 3R A TR e 91ea o  ad @
(A) #HsEd (B) T ©) (D) el
126. T T IASTH R R : o9
(A) & B) fafea ";,;’(C) I (D) RF
127, FAFAAEAEE : ot
(A) TRY (B) TN r:éf.i(C) FHURT @) f&m

128. ﬁmﬁ%ﬁﬁﬁmmﬁmaﬁrw?ﬂ%?
[ |(B) wreTd ad & o IaT e T |

(A) ST E ESEE I K |
(C) 3T AR g AT SR <o | ) (p) e G TG @I E |

129, Freferfiga & & gfee ¥7s8 BT :

(A) =mEd (B) T (C) Head (D) 3ER
130. ‘m-wﬁqg%aﬁarg’%%qu%:
131, aTfTE TIeq T GATTES F1 & ? @)

£&F

A) 7@ (B) ST o (©) v (D) R
132, < 1 qE (FEH) FTHBRE : &

(A) €IS (B) TNiZ Ad o ssraed (D) T F
133, fyeforfaa & F-ar ord-faom fog @ 2 L] ”
_ @A) () B) ) w)(c) (,) (D (D
134, ‘gﬁr-ﬁﬁf’m-gmwaﬁﬁmgﬁq;

(A) GHIH—aTeT (B) R -IETfe ©) o4 (D) S-S
135, freffad & & a9 & & §9 1 =791 HIT

(A) o (B) a7 @ FATE
T
S Page 21 of 24

%
g
|
)
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136. 3T — 3wy WTeR-J T WE o R (D) - i

(A) finfg_aei (B) ®ar- fiT (C) TG — TGl

137. SR TR FTaef & -
06 g

(A) TR ®m  (B) SRRMATR () () SRl P A (D) FFHH e
138. i — FeTifer wroq-om ot wet a7ef R :’8

(A) 9% - FA9 (B) 99& - uskr@e o8 () I -gFwEe (D) oA — TP
139. omify W‘W-Wﬁ*m‘muﬁﬁwﬁfﬁa\%ﬁw%? '

(A) TR ¥ (B) 3T § © T (D) ST
140. T Tt ) eafaa o1 IR A -

(A) Ty (B) ¥ (C) TE= (D) drered
141. ‘TE TITER &, Fifeh 98 TR |” 39 19 § -1 77T & 2

(A) wRuTHETES (B) TETEH (C) Thaaras (D) FRUETEH

142. ﬁgmﬁgﬁﬁgm,mﬁgamﬁﬁ:m.%qmﬁmm%
(A) JETdAAFR  (B) fawwifer sfidR 5 (C) 3o S@i@R (D) farmamT AAFR

143, FrrerRac - e a3 P e 3 o S e s v e 2

(A) famr B) fomm ] © U aT (D) @
144, TETE IIoX 1 e Tga= & Tl forshed Ty | -

(A) sl (B) gareAl @ () = (D) Tt
145. AT R FEA & 2 .

(A) @& (B) FSHI & @Hg Hl

(C) TUil o Fafeaq |9E & (D) TUIT o TRV T &l

146, T STEAT” TETa 1 Tt 31 1R ?
(A) a@wm (B) m:ﬁznﬂaﬁmo(C) mﬁﬁaﬁm (D) i afeesm &

147, <O T @S A AT ST S 2T 87 aﬁaﬁaﬁ%aﬁaﬁﬁs%.

(A) WERATRER ol (B) T 9 &1 BT
(C) TR F it oft 7t Freprerad <] @ WA AT S
148, Prferfaa & & R yeg O
(A) ST (B) &ar ® ) g= (D) &N
149, 3 sfer § e wEE T R T3 T T ISR & 2
(A) W W (B) o Jo¥
(©) maﬂtmgmaﬁ (D) ¥R
150. Faffm iR y=m g 2
(A) 3@ (B) % (C) ™| (D) 3d ’
DzUad T T T T e 2 ot 24T



